( numCards) {
< > bulgaria = ArrayList<>();
< > ideal = ArrayList<>();

randy = Random () ;
left = numCards;
nextPile = 0;
newVal
sum =
added g
( i = 1; sum<numCards; i++) {
ideal.add (i) ;
sum+=i;

(left>0) {
added = randy.nextInt (left)+1;
bulgaria.add (added) ;
left = left-added;
}
(
nextPile=0;
( 3 = 0; j<bulgaria.size(); J++)
newVal = bulgaria.get(j) - 1;
bulgaria.set (j, newVal) ;
(bulgaria.get (j) == 0) {
bulgaria.remove (j) ;
J——7

nextPile++;

(nextPile != 0)

bulgaria.add (nextPile) ;

.out.println (bulgaria) ;
(bulgaria.equals (ideal)) {

.
14

.sgrt (2*numCards) ;

!'= numCards) {




.out.println (numCards +




